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PAPER CODE
NUMBER: 7267

2016 (S)

SSC PART-II (10th CLASS)

/,Z-Ju

GENERAL MATHEMATICS GROUP- b - o) Sz

TIME ALLOWED: 20 Minutes
MAXIMUM MARKS: 15

Note: You have four choices for each objective type question as A, B, C and D.

OBJECTIVE (3.0

w20 =

Nn ]

15= A
A F ):L)/e}i.:,ih'?&fl&/c‘:...‘.«iﬁ.:;-wc_.u-fu;)béé.:&Lfd:dff/:.;géf@ﬁ SLLD A CBA @glﬁ;ﬁgédim ey
1 -E&L%LjuﬁyjfufézﬁJi./’::é Bubbles -ffr"rjkliviﬁu:‘:éuﬁa:,ﬂ"u(d‘../é /f_*a{.i: é../'ji:(u:flmgjc..»_p Bl

# .
-uf/f:f)/;auif{.g{.jﬂr

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not fitlled. Do not solve question on this sheet of OBJECTIVE PAPER.

-1 /:‘:J!r

Q.No.1

(1) HC.Fof 6pgr and 15grs is:- -sa[‘ﬂi;%f 6pgr s 15grs (1)
(A) 3gr (B) 3pgr (C) 3pgrs (D) 15 pgrs

(2) Solutionsetof |x|=3 is:- e ¥ |x|=3
(A) {3} B8 {-3} (€ {3} 0 {0}

(3} Foreach number ‘x' the absolute value of *x' is denoted by:- ﬂc‘-wleﬂﬁ;@dﬁ” J’ X
(A) x (B) |x] (C) ~x (D)0

{4) A quadratic equation has a degree:- G L ES AT
(A) 2 (B) 1 (C) 0 (D) 3

(5) Solutionsetof x> =1 is:- _‘LQJ"W = |
A {1} B) {1} € {+i} O{-1}

(B) In a unit matrix diagonal elements are:- L SIE ST AL
(A) 3 (B) 2 (C) 1 (D) 0

(7) Inmatrices( 4+ B)' = ? (A+B) =7 & Luni
(A) 4 (8) B' € 4"+ B (D) A'B'

(8) The sum of the angles of a triangle is:- - fyash KUl b
(A) 90 (B) 180° (C) 270 (D) 360°

(9) The number of Medians in a triangle is:- < ;imfﬂJu:fleuf b
(A) 1 (B) 2 (C) 3 (D) 4

(10) Area of a cirlce with radius  'r' is:- e bmdfe 1 B ]
(A) r? (B) 2n r (C) nr? (D) n’r

(11) Points which do not lie on the same straight line are called:- Ui [i:-'/ ‘uyz.:,;bgkgﬁbufi;;f
(A) Non-Collinear points 58457 (B) Collinear points 444 (C)Equal (b (D) Zero

(12) (a+b)* ~(a-b)* =2 (a+b) —(a-b)" =2
(A) 2 (a* + %) (B) 4ab (C) —4ab (D) a* + b

(13) Ja =q 2 isasurdof order. e Ja= a’ F/’;fﬁ'
(A) 0 (B) 1 (©) 2 0) % )

{14) A cubic polynomial is of degree:- ..‘L.t'ﬁ,.?J)KU}; A
(A) 0 (B) 1 (C) 2 D) 3

(15) If x — a isafactorof p(x) then p(a)= by p(a) Iadzf p(x) x-a i
(A) 0 (8) 1 (C) -a (D) a

34(0bj)( W T¢I T¢)-2016(S)-1000

(MULTANj)



http://www.result.pk

2016 (S)
SSC PART-Il (10th CLASS)

GENERAL MATHEMATICS GROUP-I

TIME ALLOWED: 2.10 Hours SUBJECTIVE

Sl

MAXIMUM MARKS: 60
NOTE: - Write same question number

;,-**-.-;"

#4910

60

o

—

and its part number on answer book, as given in the question paper.

SECTION-I Jil.2
12=2x6
L p(-2)
thenfind p (-2)

2. Attempt any six parts.
v
it P(x)= 20" +28° 4 x~1
Solve by using formula.

Simplify.

Define Quadratic Polynomial.

(5x +3y)" +(5x - 3y)°?

\fﬂ’?

FEECtO‘.’iZE. arx + ay — xz . XJJ

Factorize. x? + 9x + 20

) Find HCF. o

24 gb’ct

23{?3(12 5 szqrj :

: .';' Flﬂd !..CM lgabzcj .

6ab’c’ ,
Define L.CM.

3. Attempt any six parts.
(i)
(ii)
(i)

j- Solve by factorization.

()
12=2x6
Define Linear Inequalities.

Solve. |3x+4| =9

Solve. 3(2x +5)=25+x

2x? + 155 =8=0

Write any two methods of solving a quadratic eguation.
Solve. 24% = 3%
Define Singular Matrix.

S 4B ¥

(i If ‘4:[1 * 2| thenfind 4 -
b

(ix) -2

‘]

r_
Find the Transpose of B . 3:‘ :

L =1
4. Attempt any six parts.

(i} Define Right Angle.

(i} Find the value of 'y in the given triangle.

(i} Define Supplementary Angles.

(£|-| JJS)

2x* +15x - 8=0

B =

/’,:’ ’J}J

" Pl

h-*’,‘

AF

.,._,L.;JL, c../J"/ 'iéw}f{!/’w/’/ FVJJ/I‘E/JU’ -

5//-&&"!74...';7’5&-{)5 -Z/VEFJ"

Pix) 2 25 +.2% £%—1% A

-g:):ﬁc.. Yh d:J_.}’}'G
V147 -2/

LG
ax +ay—x’—xy -é(ijf

x* + 9% + 20 _é{g}f

-é ()L"' fyfgla
..;.Z_:/i’sj‘” JSI'.JI:»;’!'J}

;J/‘YQL; el

(i)

(i)
i)
(i)
(v)
(vi)
(vil)
(vii)

(ix)

o felizige i 340

i..ﬂ/“u 'w/(jb

3x+4|=9 -2
3(2x+5)=25+x -&S

:{u f/.:JM

w 40 %’.'. /L’m:.. (j!{dii,)ﬁ‘:, sl Kt

2x? = 3x ~.éaf

,é::l..ftfffj.:)ﬁ’:t
[ a ﬂj
b

]
xl, B
4 ]

s
¥

3 w2

T “

_1 o o .
| Sl
A

é\-ﬂ/‘b’ Jhﬂ")

5*?-,»‘1’*‘ ! U-'*”'b(’

(i

(i)

| vl §
-é{/@@rﬁ/ *,?FJ;;.J}( Al

(i)
(i

Ly ASuisede i
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2016 (S) A

SSC PART-l (10th CLASS)
GENERAL MATHEMATICS GROUP-I

TIME ALLOWED: 2.10 Hours

SUBJECTIVE Lo

oo SR

B0 =

MAXIMUM MARKS: 60

NOTE: - Write same question number

60 = Af

IR Bl ] ‘Vfigﬁ‘, sy i/:‘L“fLﬁ:{ U:, flig s

and its part number on answer book, as given in the question paper.

SECTION- .o

. o i ’ {, .
2. Attempt any six parts. 12=2x6 -é,{ &%*ﬂil_/. ey 240
() Simplfy. X2 Ry LE
_4:{‘}," _4x2y9

(i) Define Surd. S ue i)
(i} Solve using formula. (x+2y)° +(x=2y)° uéJJ":;.uu(Lf;B (iil)
(iv) Factorize. 2a*> — be — 2ab + ac 2a’ — bc = 2ab + ac -_édf; (iv)
(v) Define Quadratic Polynomials. _éu» /ju( GG W)
(vi) Factorize. x? — 7x + 12 2w Tn + TN L7 (i)
(vil) What is meant by the relationship between H.C.F and L.C.M? Sl Ve FU éﬁ_jw,;ﬁ[(‘"ﬁ;u (vii)
(vii) Find L.C.M by Factorization. 3a'bic’, S5ahet LS PSS (i)
(ix) Find H.C.F by Factorization. 4abc®, 8a’be, Gab'c ,gi'!fﬁﬁ;té,f_fid 7 (x)
3. Attempt any six parts. 12=2x6 ig;f;ffai,fﬁf_!‘/?!ga.df 30
(i)  Define Linear Equation. -a-fgué’/Td/&j!VUL} (i)
(i) Solve. 3x +3(x +1)=69 e+ 3(x+ =69 ZF il
(ii) Soive |3x+4|=9 xed|=9 &S i)
(iv) Solve, 2x? =3x 2 =3x &S ()
(v)  Solve by using Factorization Method. 3x° -8x-3=0 _“éﬂf;:u)g (v)
(vi) Find the solution setof x° =1 ' = | -éf’iﬁfﬁf (vi)
(vii) Define Matrix Equality A I il
(viii) Define Zero or Nuil Matrix. ‘éi’.g/uquﬁ’d)‘ (viii)
(ix) I A= ( © then find | 4 | LS LAl w4 { ; 2] S
‘ 110 4| | o 10 4

4. Attempt any six parts. 12=2x6 wéz’/&@mii:&‘&g;& A
(i)  Define Vertical Angles. EA sy )
(i) Findthe value of 'x' in the given triangle. | ek o el (i)
(i) Define a Circle. SN i)

( .?_ﬂ-' L}J!)
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(iv) Define Tangent to a Circle. Eaflolen W)
(v)  Define Medians of a Triangle. S ekl sl ()
(vi) Define Pythagoras Theorem. Y OF 2R

F35=UBI  (18=ub QS E iRl )
(vii) Find the area of a triangle whose:- Base = 18 cm, Altitude = 3.5 cm '
(vii)Define Colinear Points. Ea/Gess (i)
Eplolgesl (a,-b) < (b,-a) b ()
(ix) Find the distance between the points ~ (a, -b) , (b, ~a) |

SECTIONHI (1.0
NOTE: - Attempt any three questions.  24=8x3 -é;/aglﬁioLllrufa,&f 0y

ab=-5 s a-b=4 LA @-p (IS
5.(A) Find the value of a* — »* when a—b=4 and ab=-5

Eebed w8 2Ly -1 Py=x -k 4345 S (Q)
(B) If P(x)=x"~kx*+3x+5 isdividkedby x-1  thenfind 'k’
if remainder is 8.

6.(A)  Find the required Polynomial. _ép“’dr/?;:u’f ()-8
A=x*—5x-14, H=x-7 '
L=x>~10x* +11x+70, B=?
B) Solve 44 _xal g x+S £ ©
5 3 3
7.(A) Solve by using Quadratic formula. 3 +x=-2=0 qédic_uuig&ﬂu (-7
(B) Construct a square whose one side is 3.5 cm. A 3.5 CS "x‘f:u/b..f-‘ (o)
8.(A) If - 8 1 Lol 44 ) A=r4 & S ()-8
(A) 4 PN thenfind 474 a0 I t5 i B
" =} 2 2 1 4 2 j
o ks i = f B: i S I (w)
G (4BYC B C [ y 2} y {_2 J y [0 0} ;
| 4 2 | 5 4 [—-1 27 .
A _ - AB)C
B I 4= 0} | B_[_z 4} and C=| 7, | thenfnd (4D)

L 13 A 12 5 UL ke ()9
9.(A) Find the area of a triangle whose sides are 5, 12, and 13.

LMBA C=(4,3) # B=(6.2) «d=(2,4) WZEat ()
(B) Provethatthe points 4 = (2, 4), B= (6, 2)and C = (4, 3) arecollinear.

34-2016(8)- /00 (MULTAN)
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NOTE: - Attempt any three questions.

5.(A)

Define Medians of a Triangle.

Define Angle Bisectors of a Triangle.

Find the volume of a sphere with radius 3.5 cm.
Define Concentric Circles.

li) Find the distance between (-2, 3) and (7, -2)

el ak ()

Eaplonl gl el W

(35 u’luf&éﬂh’ (Z S (v

i“éhg/?g(us}fﬂl/f (vi

Sl (7,-2) 4 (=2,3) 48 (i
Zaless )

Define Collinear Points.

SECTION-Il (0.2

] )
If 1];=\/1*0+3 thenﬂndthevalueofLP P}

Factorize (x* —8) when (x—2) is a factor.

24 =
~ 2 _éﬁw&gd’

8x3 & fulnl elyfe i i

o
7,

2
) 3 L-vies A (s

A (x-2) BEGHS F-8) (L)

Find Square Root. x>+ y2 + 724 2xy + 2yz + 2xz -“é]’!"v)j? (JD-G
Solve 3x+4_x+1>l_x+5 ‘“éf (v)
5 3 3
Solve by Completing the Square Method. X =10x-3=0 ey )’L&/u‘f (.7
Construct a rectangle whose adjacent sides LUREGT 3 RET 4 S J@Lu’@u&i@ ()
are 4 cmand 3 cm and their included angle is 90 ©. K 909 s Lyl
o . [t 5][8]_[35] », .
-:af.:ph’uﬁf b s a v !L3 4 7J = “10 JI ()-8
h‘rls[b—35 then find the val fe d b
l3 a|l7|7| 10 thenfind the valuesof a and 5 .
Use Cramer's rule to solve the simultaneous equations. ESliairie d P40 (L)
Sx+2y=13, 2x+5y=17
Find the area of an Equilateral Triangle whose side is 8m. .5 « X 8 PP ()9
GNL LWL C(4, —9) 4 B(-6, -3) « A2, 11 jgfEep (L)
Show that the points 4(—2, 11) , B(-6, —-3)and C (4, —9) are the vertices of the Scalene Triangle.
36-2016(S)- 5 @ & (MULTAN)
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